\E\JZSOL) Feo
9. If the pH of a sul c acid solution is 1.2,
‘What is the concentration of hydronium?
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‘What is the hydroxide concentration?
= -2 38 - \—13
Pwl- 107'° = 15840 m

‘What is the molarity of the solution?
o3 oo
-L';)L"~ =:03\ib )
‘What is the pOH?

Vw-1.2=12.9
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10. If the pH of a solution of sodium hydroxide is 9.0,
‘What is the concentration of hydronium?

G- g = oo Wl
‘What is the hydroxide concentration?
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‘What is the molarity of the solution?
w0 w0 T

What is the pOH?
\w-9.0 =5.0
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11. If the pH of a solution of ammonia is 7.6,
‘What is the concentration of hydronium?
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What is the hydroxide concentration? »
[ow]- \O™"" = do~1077M
What is the molarity of the solution?
SBO%0 110

‘What is the pOH?

4.0 = L.



